ERFE I PERFORMANCE DATA
BERATE , IREEZ S.F1.15, @R

2ESNEA

40°C, 220V/380V, 60Hz

Totally Enclosed Fan Cooled, Sqwrrel Cage 3-phase 60Hz, Meet CNS 14400 2012 |E3 Efficiency

ool
OUTPUT

g FRAME

NO.

B

CURRENT (A)
T T, #EED

TORQUE EFFICIENCY (%)

BA
BREAK

H#
75%

B#
50%

INEREE

POWER FACTOR (%)

VE 8 =k
75% | 50%
(kg-m) |ROTOR(%)| DOWN(%) | LOAD | LOAD | LOAD | LOAD | LOAD | LOAD

AKEBSER IE3 R5EE

[ | ﬁlﬁ*ﬁ}ﬁ’l‘& #%X A IEC (International EIectrotechnicaI Commission) &~ BB Z 4

%Mﬂ SRR

l?)fz%ﬂ\ﬁs?%

% ~ MtEz F
BE - mRNERREMN/ )N IIEEER EEJJ s fF LR AR
N — A IS ARG e ok
l RETE -Fr.225( % )L,{"F

jJDI/ \II

NigiEiEl  Z2MASMRE °

F HINEED ~ = IERE
B BR - BREE Y
\\'}EH EARE A > NERNOBEERE  REHE -

R
21% sAiES

RS AR

HEERE %

\

HTARRX -

ATATUNG

4

roup

075 2 80M 3475 17 3.0 29 0.21 400 430 830 823 791 790 705 575 SRl R = sl g wNe AL o %ﬁlg
1075 4 80M 1735 1.9 3.2 30 0.42 430 460 855 842 8.0 710 615 485 W REE - 0RER - WERRRS @A A
075 6 9L 1145 22 3.8 21 0.64 260 300 825 827 803 635 540 415 MO‘I'or
15 2 90L 3465 3.0 5.2 44 0.42 360 370 855 8.1 850 890 855 780 . . . !
2 15 4 9L 1725 35 60 42 085 320 350 865 870 858 760 695 57.0 22 7310 Mounting Arrangements SS Un”
15 6 112M 1145 3.4 5.8 34 1.28 240 270 885 891 888 765 695 590 .
22 2 0L 3475 4.4 7.6 70 0.62 310 260 865 872 8.5 875 830 730 Horizontal Shaft
3 22 4 100L 1740 46 8.0 76 1.23 310 330 895 899 887 810 750 630 =110 = ? $
22 6 112M 1165 55 9.5 67 1.84 220 240 895 897 882 680 605 480 3 = H I:I =] LI_\ Fan
37| 2 112M 3515 7.1 12 112 1.03 280 370 885 887 877 890 855 785 :ﬂ[] \' t:ﬂ]:j:) :{Dﬂb
5 37 4  M2M 1760 8.1 14 127 205 290 310 895 894 881 775 705 580 ﬂ — TATU NG PREMI UM EFFICI ENCY IN DUCTION MOTOR
37 6 1328 1170 8.2 14 95 3.08 200 310 895 897 884 765 705 590 @
55 2 1328 3515 11 18 135 1.52 240 280 895 901 895 875 8.5 820 B3 IM 1001 B5 IM 3001 B6 IM 1051 B7 IM 1061 B8 IM 1071 B14 IM 3601 B17 IM 2302 I A — E:E
75 55 4 1328 1765 1 19 142 3.04 280 300 917 915 899 810 765  66.5 Foot mounted. 'D' type flange at Foot wall mounted Foot wall mounted Ceiling mounted. 'C' type flange at or IM 2202 2'C' or CNS] 4400-201 2 IE3 X*;‘T:/_I_
55 6 132M 1165 12 20 147 4.60 240 290 91.0 91.5 90.9 775 715 60.0 E}\Eﬁ%ﬂi% D.E. No feet. with feet on left- with feet on rlght- with feet above D.E. No feet. D' type ﬂanges. = 7'_& % . TEE |]|:||:|I:| = {R }E Eb E-’é\ =
75 2 1328 3515 15 25 183 208 260 270 9.2 910 907 870 855  80.0 Bzt D Elixpgzess - nand side when hand side when motor. B\t C EAmgz oot mounted. e
10 75 4  132M 1765 15 27 199 4.14 290 300 917 917 907 805 760 655 B viewed from D.E. viewed from D.E. BB RIEARE % |0 BA3t4E C/D BER E EH P:zj %% .\.LK ( D OC ) NVLAP * S R A B
75 6 160M 1170 16 27 139 6.4 220 240 910 917 915 790 750  66.0 BATUMIBL R (16 EASUMBLHE &S o 8 (=% IM2202C o Nag 5 i 2
" 2 160M 3535 20 35 266  3.03 230 320 91.0 912 901 910 895  86.0 BN ) (smENER ) /1M2202D) 2 EZE:E TAF S FE
15 11 4 160M 1770 22 38 320 6.05 270 280 924 926 917 825 790 705 IS® 9001
11 6 160L 1170 23 40 238 9.16 240 270 917 924 921 790 740 640 BSMI
15 2 160M 3530 28 48 340 414 210 310 910 915 911 900 890 855 Vertical Shaft \ /h
20 15 4 160L 1765 30 51 342 828 260 290 930 935 932 830 790 705 REGISTERED
15 6 180M 1175 31 54 330 124 210 260 917 927 926 800 755 645 CERTNO-ATYoR2
185 2 160L 3550 34 59 581 5.08 240 260 920 920 913 895 87.0 810
25 185 4 180M 1775 37 64 47 102 250 260 936 939 934 815 780 695
185 6 180L 1180 37 64 485 153 220 260 930 934 929 810 755 650 150 9001
22 2 180M 3545 41 71 557  6.04 220 280 920 921 913 885 880 845 I | @ AU
30 22 4 180M 1770 43 74 433 1241 220 230 936 943 943 830 810 745
22 6 180L 1175 44 76 527 182 210 280 930 936 933 815 765 665 V1 IM 3011 V3 IM 3031 V5 IM 1011 V6 IM 1031 V18 IM 3611 V19 IM 3631 V22 IM 8311
30 2 180L 3540 55 95 566 8.25 200 290 92.7 93.2 92.9 89.0 88.5 85.5 'D' type flange at 'D' type flange at Vertical foot. Wall Vertical foot.Wall 'C' type flange at 'C' type flange at Skirt mounting
40 30 4 180L 1770 60 103 615 16.5 210 240 94.1 94.7 94.5 81.0 78.0 70.0 D.E. Shaft down, D.E. Shaft up, mounted. mounted. D.E. Shaft down, D.E. Shaft UP, Shaft down,
30 6 | 200L 1185 61 106 725 247 310 280 941 944 939 790 740 630 no feet. no feet. Shaft down. Shaft up. no feet. no feet. no feet.
37 2 200L 3550 68 118 840 10.2 180 310 930 932 926 85 870 820 vREm TN DR wXEmE D& XEET 0 W I7ERAE 0 BEL BRI 0 C B vREEmE - CR  REET 0 P
50 37 4 200L 1775 71 123 949 203 270 280 945 949 945 835 800 715 EE R ERRE e ape RS ERRE R
37 6 200L 1185 73 127 858 304 280 290 941 945 942 815 770 670
5 2 200L 3550 82 141 1013 123 180 290 936 940 938 895 885 855
60 45 4 200L 1775 86 148 1005 247 190 260 950 954 951 840 815 740
45 6 2258 1185 92 159 865  37.0 230 210 945 950 949 785 750 665
55 2 2258 3575 99 171 1553 15.0 220 320 936 937 930 900 885 830
75 55 4 2258 1790 108 187 1585  29.9 270 300 954 955 949 810 765 665
55 6 2508 1185 113 195 1165 452 210 250 945 948 943 785 745 655 @ T L%%ﬁﬁ Motor Business Unit
75 2 250S 3575 134 231 1761 20.4 170 280 941 93.9 92.9 90.5 89.5 855 () ﬂ TATUNG %ibﬁ:m@)ﬁﬁ% 352 ﬁ TEL : ( 02 ) 8676‘6888 ( ,f_%i%%)ﬁ )
100 75 4 2508 1785 137 236 1882  40.9 220 260 954 956 953 875 855 795 @ Z=N o Shit hsi el City 2374 .
75 6 250M 1185 152 262 1376 61.6 190 200 950 954 953 79.0 760 675 352 Shi-tong Rd., Sanhsia, New Taipei City 23743, Taiwan, R.O.C.
9 2 250M 3580 161 278 2183 245 170 230 950 949 942 895 875 820 Website: www.tatung.com
125 90 4  250M 1780 164 283 2238 492 230 270 954 957 956 875 850 790
90 6 280S 1190 174 301 1957 737 190 240 950 954 950 825 790 700
10 2 280S 3580 202 349 2448  29.9 180 280 950 947 935 870 845 775 @ WIEIA | ppERIe , phsE e
150 110 4 280S 1785 210 363 2303  60.0 170 230 958 960 959 830 815 760
110 6  280M 1190 218 377 2801  90.0 210 270 958 959 954 800 755  65.0 o SitEE ° Aq:géﬁ*ﬁ LTSS A 4 68 1916 9
AR AT A A A A A Ak BAREDG | GBS I 238
132 6 3155 1190 258 446 2836 108 170 240 95.8 95.9 95.4 81.0 775 69.0 ;‘ig ) giig:iigz #3333, 2930, 2940 02-25984424 5+ 04-235937¢64
- * 4 == . = o
20| 150| 4 |ots | 1ros | 214 | - | o | ste | 20 | 200 | s62 | 3 | s | sas | sos | sss | D © REEIL BETEAN 464
150 6  315MF 1190 292 —~  *1538 123 150 230 958 959 955 815 795 730 HALHEFERD © ML = REERES 352 52 =5h 1 052856431
185 2 315M 3580 326 = *2085  50.3 180 280 958 959 953 90.0 885 840 &B5E 1 02-86761101~4 BH : 05-2859244
250 185 4  315M 1785 340 —  *2840 101 220 290 962 964 962 860 840 805 EH : 02-86761841 .
185 6  315LS 1190 360 ~ 2554 151 190 250 958 960 956 815 795 725 () * AFMEEN - AR KEBHERR 502 5
2000 2  315LS 3575 356 —  *2191 545 140 240 958 959 957 890 890 865 o ERETUL - HALILABHEIES 145 57 BiE  06-2532291, 2531856
270 200 4  315LS 1790 363 - *2885 109 180 260 962 963 961 870 8.0 810 @ BT 1 03-9589481, 9580907 EE 1 06-2538196
2000 6  315LL 1190 384 - 2627 164 180 250 958 960 954 825 785 695 B 039589471 e . F fRigiz
Note: 1. SUERJ5 &3 IEEE 112 3% B /& , CNS 10919 - 1. Test method based on IEEE 112 method B, CNS 10919, Technicl No.:D147010 ° BHEEBIL | BIETHEE—EE 499 5 CLASS F INSULATION SYSTEM
2. b AEEEESER - 2. All data shown above are nominal values for reference only. o FIFEEYL  ESGTFEMPERK 1R 185 BEh 1 07-2363121, 2363122
3. RIRREERHA CNS 14400-2012 IE3 E3R - 3. Min. efficiency in accordance with CNS 14400-2012 IE3. EEE 1 03-4584027~29 [EE : 07-2362674
4. vﬂ[ﬁ;‘;%%vﬁ%é)ﬂﬁ% 4. For vertical motor frame size, please see the dimension table. (R 03-4576734
5 FEBEEREE, 9”?%17@%[1 5. All data shown above is subject to change without prior notice. =
6. 200~375kW AIFC AT RAR! o 6. Rating of 200~375kW is available on request.
* It 380V Z ERENE © % This value is for 380V.
RRDG-100034 R1 2014




IE3, RHIIME R~ E]
EATX 22 EF4L R EY HORIZONTAL TOTALLY-ENCLOSED FAN-COOLED

=

o L%

BB

==

BB

R~F DIMENSION (mm)

80M
90L
100L
112M
1328
132M
160M
160L
180M

180L

200L

2258

2508

250M

2808

280M

3158

315M
315MF
315LS

315LL
i

0.75
1522

Ehi/
5.5,7.5

11,15
18.5
22
30

3;5
55
75
90
110
1;2
150
1;5

200

1. BB0E "H RTHIAZ @ 80M ~ 250M +0, —0.5 ; 280S ~ 315LL +0, -1 °

2. BH{E D" RYFA9AZE © HESR 80M ~ 112M 7% j6 + HESE 132S ~ 180M 4 k6 + HESE 180L ~ 315LL /& m6 ©
3.2 MEERABEANES  EHFNEGBSAETRRISMET (% 2258 L) -
K AREBEEE  BABITEA -

IR 2% #100L 2 #4558
~ R FA Sk S °
AC (#100L~112M) L RIPAKFRLE15° | AC
_E| AD _E| AD 112M
ED ED | #100L
| N ]
[m)]
o 157 s B
— - IEEe
KK/ |/l AE |AA| | B | K&/ |_fAE_|aa
4-gK A BB 42K/ A
HOLES AB F HOLES|™ AB
DH TAP
FIG.1 ;ﬁ_ FIG.2
3 \(,'(/ o
AC @D L , AC
“E] AD E AD
ED | ED
A .
J; = oS = =
I \""'}( <C T 6"/
T EE T /] g
KK [ FAE aal]] | BA KK/ | /[AE [an]
4-0K A B 4ok /A
HOLES AB BB HOLES AB
FIG.3 FIG.4
0.75 — 1 125 100 50 10 35 155 180 146 118  —
15 0.75 140 125 56 10 40 176 207 164 134  —
22 — 2 160 140 63 12 40 196 223 183 155  —
3.7 1522 190 140 70 12 40 220 243 183 155  —
5.5 3.7 216 140 89 12 50 260 285 225 179  —
75 55 , 216 178 89 12 50 260 285 225 179 —
11 75 254 210 108 145 60 308 324 275 230 —
15 11 254 254 108 145 60 308 324 275 230 —
18.5,22 15 279 241 121 145 60 324 398 340 275 825
; 18; 0y 4 279 279 121 145 60 324 398 340 275 825
37]5 3;37 318 305 133 185 80 378 442 353 305 80
;5 ;; 5 356 286 149 185 80 430 490 432 345 895
; ;) 406 311 168 24 90 490 500 512 394 111
97) ; 406 349 168 24 90 490 500 512 394 11
6
o % 457 368 190 24 110 560 560 540 424 135
1;2 11_0 457 419 190 24 110 560 560 540 424 185
1;0 1;2 508 406 216 28 140 630 680 580 455 120
7
185 — 508 457 216 28 140 630 680 580 455 120
— 150 508 457 216 28 140 630 760 735 566 165
230 1;5 8 508 560 216 28 140 630 760 735 566 165
— 200 508 710 216 28 140 630 760 735 566 176

130
149
176
168
175
213
250
294
286

324

360

325

412

412

484

584

480

530
632
632
782

80
90
100
112
132
132
160
160
180

180

200

225

250

250

280

280

315

315
315
Sill5
315

L AC
AD
ED |
o / I
o I
o A @ oc % <C
pu £ -
\ KK/ AE | AA|
B ||C 8-0K A
BB HOLES AB
FIG.6
<T| 1
O Do
L AD @D L ‘
_E| AC E
. F % ‘ ED
— [m]
== | ° el [/
] = " 3/ —
= | 3 I < sE g:"
oy i 1 ac J
i— | —— i =g T =
BA ||| KK/ |_JAE | AA| BA KK/| £
B C 4-GK A B c 4-gK
BB HOLES AB BB HOLE
FIG.7 FIG.8
8 169 35 @22 274 19 40 30 6 155 215 M6X12L 6204ZZ 6204ZZ 16 80M
10 190 45 @22 327 24 50 40 8 20 27 M8X20L 6205ZZ 6205ZZ 26 90L
12 246 85 @28 378 28 60 50 8 24 31 MI10X25L 6206ZZ 6206ZZ 38 100L
12 274 95 @28 382 28 60 50 8 24 31 M10X25L 6207ZZ 6206ZZ 44 112M
15 316 112 @35 450 38 80 65 10 33 41 M12X25L 6308ZZ 6208ZZ 70 1328
15 316 112 @35 488 38 80 65 10 33 41 M12X25L 6308ZZ 6208ZZ 85 132M
18 373 120 @52 603 42 110 90 12 37 45 M16X36L 6310ZZ 6208ZZ 130 160M
18 373 120 @52 647 42 110 90 12 37 45 M16X36L 6310ZZ 6208ZZ 142 160L
20 440 105 @63 6765 48 110 90 14 425 515 M16X36L 6310ZZ 6210ZZ 190 180M
63122ZC3 621272C3 220
20 440 105 @63 7145 55 110 90 16 49 59 M20xd42L o0 T S o5 180L
7725 55 110 90 16 49 59 6312ZZC3 6212ZZC3 300
X
20 486 130 63 go5 60 140 110 18 53 64 M2OXAL “aniszz 621227 300 200L
829 55 110 90 16 49 59 63142ZC3 6312ZZC3 370
X
25 541 145 091 ono 65 140 110 18 58 69 M2O742L ga1477C3 63122203 380 geos
912 55 110 90 16 49 59 — 6316ZC3 6316ZC3 495
3 574 102 018 o1 75 140 110 20 675 795 — 6316ZC3 6316ZC3 535 2508
912 55 110 90 16 49 59 — 6316ZC3 6316ZC3 544
3 574 102 OM8 o 75 140 110 20 675 795 — 6316ZC3 6316ZC3 562 250M
1058 55 110 90 16 49 59 — 6316ZC3 6316ZC3 670
35 655 141 ONM8 1105 85 170 140 22 76 90 — 6318ZC3  6316ZC3 780 2808
1158 55 110 90 16 49 59 — 6316ZC3 6316ZC3 850
35 655 141 OM8 o5 85 170 140 22 76 90 — 6318ZC3 6316ZC3 890 280M
1166 55 110 90 16 49 59 — 6313C3  6313C3 1160
3 767 95 OM8 207 95 170 140 25 86 100 — 6320 6318 1130 3158
1218 55 110 90 16 49 59 — 6313C3  6313C3 1170
3 767 95 OM8 o5 95 170 140 25 86 100 — 6320 6318 1170 Sk
35 755 40 PF4" 1380 95 170 140 25 86 100 — 6320 6318 1390 315MF
, 1350 55 110 90 16 49 59 — 6314C3  6313C3 1670
3 755 40 PFA" 580 95 170 140 25 86 100 — 6320 6318 1670 315LS
35 755 40 PF4" 1575 95 170 140 25 86 100 — 6320 6318 1950 315LL

Note : 1. Tolerance of dimensions "H" : 80M ~ 250M +0, -0.5 ; 280S ~ 315LL +0, -1 °

2. Tolerance of dimensions "D" :

> All data subject to change without prior notice.

Drawing No.: D33-13682
i6, for frame 80M ~ 112M ; k6, for frame 132S ~ 180M : m6, for frame 180L ~ 315LL -
3. 2 pole motors are used for direct coupled service only. Customer must specify pulley details while belt driving required for Fr.225S and larger °

IE3, 2G5 R~ E
YR EZEINEE VERTICAL TOTALLY-ENCLOSEDFAN-COOLED

R~f DIMENSION (mm)

80M
90L
90LL
100L
112M
1328
132M
160M
160L
180M

180L

200L

2258

250M

280M

315M

315LL

0.75
1.5
2.2
3.7

5.5,7.5

11,15

18.5
22
30

37,45

55

75,90

110,132

150,185

200

0.75
1.5
22
3.7
5.5
7.5
1
15

18.5,22

30

37,45

55

75,90

110,132

150,185

[(#100L~180L)

__AC EEHIRE
HB
l \
=
v <C
| =
wllEr] |
ONj6
apP
KK

HOLES
80M~180L
— 180 146 118
075 207 164 127
— 223183 155 146
1522 243 183 155 152
37
55 286225179 184
7115 327 275 230 213
15
— 390 345 285 260
18.5,22
s037 442 365 301 288
45 487 457 345 312
5575 490 512 394 321
g0.110 539 536 425 350
13y 620 580 456 380

200 150,185,200
i ARERERE  BRASTEA -

720 725 570 400

Note * All data subject to change without prior notice.

=i
F DH TAP
—-T—T——
< 1
O] Q/ o
@D
22.5°
22.5°
200L~315LL
296 12 19 40
@22 327 10 165 130 200 12 3.5 24 50
356
228 CiEe 15 215 180 250 28 60
382 11
450 145 4
@35 488 12 265 230 300 38 80
603
@52 647 19 300 250 350 42
676.5 48 110
263 714 5 15 350 300 400 55
772.5 18.5 55 110
263 8025 19 400 350 450 60 140
828.5 55 110
@91
858.5 5 65 140
912 22 500 450 550 55 110
942 75 140
1059.5 55 110
@118
1219.5 85 170
1255 25 600550 660 o4 55 110
1315 95 170
. 1503 55 110
PF4 1563 740 680 800 95 170

30
40

50

65

90

90
110
90
110
90
110
90
140
90
140
90
140

6

10

12
14
16

16
18
16
18
16
20
16
22
16
25
16
25

15.5 21.5
20 27

24 31

33 41

37 45
42.5 51.5
49 59

49 59
53 64
49 59
58 69
49 59
67.5(79:5
49 59
76 90
49 59
86 100
49 59
86 100

M6 X 12L
M8 X 20L

M10X25L

M12X25L

M16 X 36L
M16 X 36L
M20 X 42L

M20 X 42L

M20 X 42L



